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Rainbows that form 1n the sky
during or after a rainstorm from
primarily because of the ability of
waves to :
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D sle s gall 5 8

Change direction when confronted
with obstacles .

. 3l alakal) dic oladYl il

Bounce off surfaces.

¥ e ol Y

Change velocity when moving
from one medium to another.

Lnjdndmmmw145}m
V=S AR ij

Combine to increase their
amplitude.
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A mass spectrometer yields the Aie el 4000 il Uﬂ§1 b )a-L-'J
following data for a beam of D psRgall &Y e (42) S S
doubly ionized (+2) sodium (Vyecer =110V) , (r =0.065m)
atoms: (B =0.087),(r = pspgalls S cual (B =0.08T)
0.065m), and (V,...; = 110 V). % S A Bh vt
Calculate the mass of a sodium o 3,13—;\4‘& 0.9 x o u?E:{ —
atom. - 2. X \Wo
3.63x107%° Kg I
3.73x107% Kg 2
3.83x107% Kg 3
393 x 1072 Kg \
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Electrons move through a magnetic

field of (0.08 T) balanced by an
electric field of (9.0 x 10* V/m).

What is the speed of the electrons?

0 paulaling Jlaa 8 Gl g S &l pai
4624 (A jeS e aiy 433 50 5 (0.08T)
5o AN (9.0 % 10° V/m)

¢ iy N e pu ltia La

J = E':_ - 9:;12'; —
1.07 x 10° m/s l
1.10 x 10° m/s 2
1.13 x 10° m/s ﬂ.,f
1.15%x 10° m/s 4
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(- ol plate S
The electrons in the Thompson's

tube in the above figure travel from
left to right, The beam upward
Which deflection plates 1s
negatively charged ?
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Which of the following situations

does not create an electromagnetic
wave?

ey

-~

\:f\r’;"' O\ e M C’f_“\n”»%{ﬁ S+ &—

4a ga Lty (21 Y Al YW e gl
¥ dadaling 5 S
u}.\/uua»@,? /)-H—P/o,_\,_PQ:. L) s

A resonant alternating potential
difference is applied across a
coil-and-capacitor circuit.

e 5l (e gk (1) agliie aga (58
L aila

High-energy electrons strike a
metal target in an X-ray tube.

duSlMlu_uju'l‘équm

A constant potential difference is \/ S5k e sakay Culd aga (358

applied across a piezoelectric
quartz crystal.

Alternating current passes 4| sl Jahog e dliy jaoglila s

through a wire contained inside a
plastic pipe.
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In the above figure: we notice that
the width of the central band of the
interference pattern due to the red
light 1s greater than the width of the
central band of the interference
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: vy
pattern caused b.y the green light. 53_, 4 oo B
This difference is caused by: - =
The green light frequency is greater \/ e gl 23 53 e 5S) sl e sl a5
than the red light frequency. . YY)
The intensity of the green light is D e sazall 3a% ja 3S) il W) o sl 325
greater than the intensity of the red . Y
light.
The intensity of the green light 1s 3 e saall 305 ya (J8) ma W) o snll 325
less than the intensity of the red . ey
light.
The green light frequency is less 4 e gazall 33 5 (e (J8) il W) o saiall 33 55

than the red light frequency.
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In a double-slit investigation, at two
slits that are separated by

(9.5 = 107% m). A physics students
use a laser with wavelength

(6.3 x 10~ 7" m).

A student places the screen (1.0 m)
from the slits .

Finds the angle between the first-
order bright band and the central
line .
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Light source

The figure above shows the setup for
an experiment on the behavior of
light. Which of these best explains
the purpose of the single thin slit
found in the first screen?
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To send high and low wavelengths | |
of light to separate slits on the
second screen.
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To ensure that light waves passing \/

through the slits in the second
screen are coherent.
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To allow only some wavelengths 3
of light to pass through to the
second screen.
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To cause light waves to reach the 4
slits in the second screen in an
interference pattern.
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